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ERGREERSBERR
BE-FEMEAA=+AILFBEA

&N % 13 % BRGFE BEGE BEGE B EfE 2ERA @it
FET FHET FHET FET FET FET FHET FHET
R=ZTZT=FMA—A 4,740 231,789 76,229 1,327 (1,452) 20,012 237,487 570,132
RIRME RS B BT RGD 263 6,984 - - - - - 7,247
7N HA P 4 R - - - - - - 73,065 73,065
BR AR S - - - - = 22,674 (22,674) -
RZTZT=FNA=1+H 5,003 238,773 76,229 1,327 (1,452) 42,686 287,878 650,444
EITR M 500 185,500 - - - - - 186,000
BT D 2 AR X - (4,858) - - - - - (4,858)
i RN i
—EE=FRHK
—ZTNFEHH
B . 1 B 1T AR 4D 79 25,966 - - - (26,045) = -
7 HA P 4 - - - - - = 80,225 80,225
R R E R S - - - - = 25,120 (25,120) =
BEEIRKE - - - - - (16,641) - (16,641)
REEBUIIEBZER =8
(I R R ERER) - - = 1,499 = = = 1,499
R-ZEWE=A=1+—8 5,582 445,381 76,229 2,826 (1,452) 25,120 342,983 896,669
AN ER R 45 F - - - - - - 102,964 102,964
EERKE - - - - - (25,120) - (25,120)
RERBUIINEBZER =58
(W mRA W R EHER - - - 286 - - = 286

R=-ZFBNEAA=T+H 5,582 445,381 76,229 3,112 (1,452) - 445,947 974,799




